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bg(?(’)l) = (1 - V)bl,O + VbO,l
KUz B0 & B0 L & I B &,

(1- u)bé(?él) + ub(l(?él) Ekxh,

%] 20

EHSI@ x(u,v) =1 —u)(l - V)b()’() + (1 - M)Vb()’1+ u(l — V)bl,() + I/Wb],]
= bo,oBy(u)By(v) + b1 By(u)B|(v) + b1 oB}(u)By(v) + by 1 B{(u)B(v) %

Bol i (A



72V LERY THE

T VY NMERY T, WO EZ 2 —BREL7-bD
TH5b. RDm+D)n+ D)DK, 2525, mIBEIT S
HifR % m RO IR E T ERDLH ITRDOINS:

:zpﬁﬂm
Bb, B nRONY LR LR BEIT S &, b-Zﬁ#ﬂw&&
%,;ﬂB20@f%%bﬁTA@fT%%§ﬁ%@ﬁVWuW

PBRoNS:
" (u,v) = ) > bi B WB(v).

=0 j=0

WA B (KBRS ) WE a7z DEEEAM



TV ILERARY THE

HHE 8™ (1, v) % (m + D(n + 1) Ol
bi;(i=0,1,---,m j=0,1,---,n) 5
WRINI2TIVIVEBRIIMEE 213
NIITHEE V) (K21) . #T RS
INHIFHE O NI, RITRYDMF
7 I3HIER Y b EFEIEN S, X 21

HHTT 6™ (u,v) D v =vy TH BENT A —FHFIT u IZDOWTD m
RORSIHFRTH Y, ZO m+ 1 HORY ZHIfH NI
ThobiBi(vo) (i=0,1,---,m) THZSND,

TEARREE T O 72 & DEE A

WA B (KBRS )



TYVIVBRNY IHHEOKE

a) P74 VAEM :

T D 5T B™" (u, v) 13 X1 X Bl @)Bi(v) =1 & )
bij(i=0,1,---,m,j=0,1,---,n) DELEEGERKE S, HE>T,
774 VERTAETH D,

b) &% :

IR ™" (u,v) 1& u,v € T= 1[0, 1]12% L CHIBIZ AIEO M NI
b5, iz, ZHNABwBI(v) BIFATHY, ZOME1TH
L2EDHLD5.

c) IZ5RHHR

AT 8™ (u, v) (u,v) € I x I) DEERHHIE u H 2 Vi3 v I2OVTD
Y TR TH 5. R, BB (u,v) 1Z 4 5 boo, Bino, Dons Bn
25,

WM B (KBRKREE) TAREEG T D 72 O DHE A



TV IVEARY THE OB
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bo, = (1,0,1), boo = (2,0,0), b1o = (0,1,1),
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by = (1,2,1), b2 = (2,2,0) L T2 &, _RPT
X 22 o k912 3,
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